B(ERF-RE)TA

28 (A) 38 () 48 (K) 58 (K) 68 (%)
BB BEmf —A&Y | |wus BEmd —AEY | |mue BEmd —AHY | |#zs Emf —AHY | |#uz BEm% —AZY
FH®RS=E N RS E FRD=E FRDE
£ 60 [9y~/8y 60| | [HEEX(ER) 70| [N 40 [y ~s8y 4| (£ [HAEXERD 0| P [HEEXER 70
W 5 [RHE B 10 -*:é‘ <80 [kaiE R o] B [xkE &% 10
FE=T 206 |5 |2 FmYY 20| |5 [%2 206] | AP 2
9 = |tHockE w—u 10| |~ R 206] |5
N 206 =)
RN LGOSV #-h 50f |2 |AB 10| [+/%  [B)RFT4 =T 35| |4 A |EEL 206
| 50 |eaasmdinun—y T 60| |#  [RTERT 5| |~ |9TiE 15| |3, |[REHLEBHE 30| |
Vil - |HRE 5 BRASAR 20 fEf-taid 4| | |mm mw EEL Hok 12
ETS) Bl |* [z 1| & [esvozs 0] |2 [z 2| [N [mm e sl st 8
~ |AB 10 |- |EE 4 EE 15| |& | & 3| 1Y | EE 1
=46 | Tif 05| [ [BOEH 4| |y | XY 30| | [BoEm 22| [¥  |mEmIE Y030 15
2 A B0 CEEH) o8) || |[Ew¥ 20| |2 [BECEaE) 22| |, [EhE 35
5 |EER Ty -4 8| |Y &k 0.6 7§ AS 7 | |[BAYA 08| |y [AB 7
o, 8 |W@ErFryTers—f N5-ch g [T ?; F—<> 5 [ |=HRESDEL 0.02 A SPVAITA 5
o 4 AL 206| |5 |&£E 1] i+ % [k 1 | L 2542 5
D@ R542F =X B 20| |g, R zal 0.1 B [EO&H 3.5
& B uLE 1 | |[B35H 2 |12 |[Fey 25| |2 (=R 3
A |mnR—arzs542 5/ (0 [A)Jayay— 20| [T |[EADDY—R 7| |F [ 20| & (& 03
=Y - 15 _al; =p5Y 20| |7 |HrE—Y—Z 2| |® 2035y 10| (P |smrisve sms 15
; Eh# 4 L |AB 5/ (- |8 o5 [ [Az 5 ; E 55
Z\ LM EREKE AR 15] |5 56 | @mmcsiLosey smis 10 ; cL&> 0.05 z WYBRITE 1 =
L |[AB 10| (= b [EDBNDE 0.2| |5 5 |(E) 2L & 3| |7 | ZRISSHR 15
(=R LA K 1= EX O 1) (Y |eazos smoaepes 7| |7 B BEOYH 02| | 7 [E93Y 25
=D 2| |7 |ELE 20| [F A (LB)STSER 2| | |[B)Fh—)a—> 8
* sy 05 |) FoEHA Tl N EETS TS 30| [+ |msEzezEo@ 6| | |£45 5
HS5H 0.5 1) ZDET=1T 5 th R EhE 20| (D 83 |@wroonrivsey smns 10
L) ADR—F 3 |4 |E)IEBEH 5| |l LR #MA 15 > |AZ 5| |0
FAESH 1115 |[LRASR—TF 3| (&  |um@Es Aok EaR) 20 U\ L rtd 5[ |% 40| (8) RESEY— 40
Bi5 07| |¥ |[BRoEH 05| |~ [urissay pvrase 25 ?.}. 82)Z5HA 4 i
cL&S 003 | [pEravyx Amiss 03| |, 80 M hoTFIEY— 2| | |BROEH 06| |3
FELavY A L-BiRE 05/ |4 Bif 06 |, N | BIE 07| |&
0—yT 01 [z [SL&D 003| || 70 |{E)I—F It 70| [ |ErLmvE gk 4 |5
lF 1201 |1 "B 120] | DIF] 130| |€
7 R Iz 1)
_ [@EvsrFvy 15| |¥ - 3 [@BRIINT 25| |!
S P [ syoRFyy g 20| [T -l: ‘ »
5 3 g O ESHY— 50/ |
Z | £ »
¥ Vi 1 H
Y oL I -
Y 3
AN th
h o
) H
H -




B(ERF-RE)TA

98 (A) 10H () 118 (JK) 128 (K) 138 (£)
Bmb — A&y | s Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERSE EERDE ERDE ERRE ERNE
AL 7A 5% 60 (2 BB (EE) 70| (3 90 |ayR/Ry 60| (2 [#EE% () 70| (& [EEXER) 70
178 [k /840 Givm) 18| ¥ [k#E B 10] | ¥ |xHz EH 0] Y [xuE B 10
,/{, ; FRIVF 25 /"\ ) 206 i BREIXTAR 20 ‘ff AVBA B EAL vk 15
. 43 206| |Z. [BE 1] . Lo 25 AVBA bt BEL Avk 10
v ) . . D L —~
% Nk 1vs 5 )AL —Y Hyk (2em) 50 | EhFE 40 = CES (R AE CIEARNESD) 7
4 |BEA AEYY 0| (4 |AB 0| | [EE 2| |5 [DEFEe hvbk 2| (A |AZ 7
3, |([BEAYY 20| |~ [EWZIES 7| 131 |BiE 015 (4 |&T 15| [y [TERE 5
S5 1|12 L ERE 5 X 4| |R Y545 ~ Y54 1.5
- Y F 8 =X 08| |[A |iIzal=< 05| & [cA® 4 |~ [AB 8 EOEH 3
AT 08] |Y  |mFLiney 2542 03| (P |tat=tai 6| | [mo=ss 5| [ [&E 15
;3 [ZAl=< 03| |~ [am i |¥ [zt 5| | [=zu= 5| [Pt [mam(Emm) 15
= [EOSEH 25| | |[ROEH CIN I} €=} ) 35 o |I2Al=< 05| |g | BIE 08
T | b (R E) 25| |5 [EMECEENE) 2| |5, ' [RO&H 3 | |&= 02| |3
5 | &E 25 SEE 1 1] 5455 2| | |45 206
[ ) ELEIYET Btk 1| [0 " [zxrasva 2mims 03| |z [BXEKZE 15 |& |[/hEH 5 B
Y % E 15( |& Ry 20| |3 Y545 5[ |19 ZpiY 30
Ed A E ) 206 (X [#)Joyay— 15 AL—# L @ [AB 7
¥oLRECoHmE 10 |v 2 iz 5| [P [LRpatsr—F 3| & [ByFLAR 4
; TR 20 :/J eV 35 -; 65 | @ymmosivosey somims 10 g FRMFryT (Tke/3ke) 2 :}' ) AHER 0.5
L FrRy 25 5 =Y 20 pe + JARE—Y—R 1.7 o WYBRTE 1
| +£OL 15 5 EhF 5 AINR—OVRASAR 5 S5 EADMDY—R 1 53 | mwmonLosy smss 10
I—v 15| |35 7 [@mmerssey nmiss 10| | |ELE 25| (4 [ROAEH REN
3y [AB 1| |z T |[LRbRzRkE F4Z 20 FrU4 450g | & 5
ER X 1 EhE 20| |+ [FeRY 15) [/ | FRESHE 1] [t |Lehilrg 30
< |lEoEa 1| [E e 7| 1D | Ryx—= 10| |&B |&E 0.8 Fh¥E 25
7|‘ CEm 0.5 ii’ As 7 7|‘ #)THa= (L) 7l [T [zLes 0.04 %‘ Lot 7
S |pEeavys semne 0.3 2’; *455 5 > A4 05| [V [Fromux snomms 0.5 )\ hhE 5
Bif 03] |5 [BHE 7 Y5 05 |7 ' 1& 8| ) |Ba% 7
cL&S 003| |2 HHZ 6 LR ABR—F 3 |en v |[HAZ 6
# o |mrLEyE s 4 FRAESHE 1 | ™ [4EL 206 [| |smrLmyE gk 4
LR) ST HR 20 15k 120 FELaLUA BB 0.7| |# £ [k 110
EhFE 20| |%F Bif 07| |~ |FE¥RY 25| v
A 5| |3 30 |(E) BE<vT1 30 ZL&S 0.05 =p5Y 20| [F 8 |t nmAyr—Eor 8
thiaE 51 |¥ Oo—yzT 0.1 ) R—J)La—y 5| [~
(82) 3481 9°< 04| |7 w s 120 &) FLbh® i j;
LR RSR—T 3] |. 61 | @ acerioes nmus 10
= 2 #H
D] 1 (- -
EOEH 08| [ 415 MEFL 4
Bif 05| (o
FEavyA 5L-BREE 0.3] &
8 120| [~




B(ERF-RE)TA

178 () 188 (K) 19H (K) 20H (%)
g Bmb —A&Y | |#z Bad —A&Y | |#zs Bndb —A&Y | |#zs Bmdb — A%y
EERDE ERDE ERRE ERNE
E  |#axER 70| [ 9 [awsg 60| | MBIk (A% 0| & |[#AXEH 70
£ |k#iz =% 10] |V *  [BERIAZ 35| [ 80 [kpiE FiE 10
L [EBz542 35 z 2 g 206 é BB 1 %
P [V 15/ |, r |EE 1 RS 206
x |FRE 1] |5 |Eosfgy1vF— #h-iv 30| |4, [ROEH 04| |5
= [BOEm 35| [ 30 [mosmigy1r— B 40| |5 |BEFXLTF ke 20| |x %0 [ LbLiEimE 50
I |BECEEE) 15| |3 Yy | EhEFE 30| |y
A BB 1Y ey 27 3oL 20| (@ |[ZE3Y 30
~ (S 1[N A 5| |F [AZ 7 | |HeL 20
WYBEIFE 15 |1V == 3 B [i=5 1| R [Az 10
_t_FL —RESMSL 0.02 i () R Fry T #h-/1h4 8 - 1IZA1=£ 0.5 ;]\\ 70 |y meeriosey s 10
* 3HOL 40 B @y FeyIeRE—F IN5-rh 8 s 3| U (&
b |BENAE 30| |4 W |ROEH 24| | |2 20
n AB 8 [z ° | RF1vHF—X 15| (5 Y |EHE(EEE) 08| |z |G 5
H 2 wmasiiosyy nmss 10 g - EX el 20
= 3 [A)R—IVRFIR 5 e 206 He 10
| w0 lag) 206| |1 [wnxes—zr 1 10| 4 & [t 5
7 T 30| & [FrRy 30| |2 [haz 7
KULRAL G 5 SEE 5 ;I( (F) ) —La—> 20 ;’?\" =3y 20 n HHF 6
LM ST SR 20| | fF)R—)La—> 5 |4, AS 5| |, [EMELHIVE s 4
EhE 20 AS 5 | . |[(B2)EEIvIR 12 [ & 120
ZDET=1T 7 AN )] 05| [/ 66 | mamevosey nomms 10| |o
¥ 5 Y545 0.3| |t # 0| HSYDEE 10
) TLbhhed 0.8 LM A SRX—F 3| | 80| GH) FHDA 80| |&
HS5 M 0.5 Bif 0.6] |#*
LR ASR—F 3 ) 0.04] |~ g
BEOEH 0.8 FEavvA gl 0.4 ®
ais 0.7 - RE—F 1 3
L&D 0.03 SREALEL 20 )
FRUaYA B BiEE o5/ | "'|& 80 %
CFEH 0.2 Z
e 130 )
1)
4
1)
&
%
st




